Вариант1

Program V_1;

uses crt;

var i, n, v, max, f:integer;

begin

  clrscr;

  readln(n);

  max:=0;

  f:=0;

  for i:=1 to n do

    begin

      readln(v);

      if v>max then max:=v;

      if v<30 then f:=1;

    end;

   writeln(max);

   if f=1 then writeln('YES') else writeln ('NO');

   readkey;

end.
Вариант 2
Program V_2;

uses crt;

var i, n, v, min, f:integer;

begin

  clrscr;

  readln(n);

  min:=301;

  f:=0;

  for i:=1 to n do

    begin

      readln(v);

      if v<min then min:=v;

      if v>80 then f:=1;

    end;

   writeln(min);

   if f=1 then writeln('YES') else writeln ('NO');

   readkey;

end.
Вариант 3
Program V_3;

uses crt;

var i, n, v, s, f:integer;

    sr:real;

begin

  clrscr;

  readln(n);

  s:=0;

  f:=0;

  for i:=1 to n do

    begin

      readln(v);

      s:=s+v;

      if v>=80 then f:=1;

    end;

   sr:=s/n;

   writeln(sr);

   if f=1 then writeln('YES') else writeln ('NO');

   readkey;

end.
Вариант 4
Program V_4;

uses crt;

var i, n, v, s, f:integer;

    sr:real;

begin

  clrscr;

  readln(n);

  s:=0;

  f:=0;

  for i:=1 to n do

    begin

      readln(v);

      s:=s+v;

      if v<=40 then f:=f+1;

    end;

   sr:=s/n;

   writeln(sr);

   if f>=2 then writeln('YES') else writeln ('NO');

   readkey;

end.
Вариант 5

Program V_5;

uses crt;

var i, n, v, max, min, f:integer;

    sr:real;

begin

  clrscr;

  readln(n);

  max:=0;

  min:=301;

  f:=0;

  for i:=1 to n do

    begin

      readln(v);

      if v>max then max:=v;

      if v<min then min:=v;

      if v<=30 then f:=f+1;

    end;

   writeln(max-min);

   writeln(f);

   readkey;

end.
Вариант 6

Program V_6;

uses crt;

var k, a, n:integer;

    sr:real;

begin

  clrscr;

  readln(a);

  n:=0;

  k:=0;

  while a<>0 do

    begin

      n:=n+1;

      if (a mod 2<>0) and (a mod 3=0)                                    then k:=k+1;

      readln(a);

    end;

   writeln(n);

   writeln(k);

   readkey;

end.
Вариант 7

Program V_7;

uses crt;

var k, a, s:integer;

begin

  clrscr;

  readln(a);

  s:=0;

  k:=0;

  while a<>0 do

    begin

      if (a mod 2=0) and (a mod 5=0) then k:=k+1;

      s:=s+a;

      readln(a);

    end;

   writeln(s);

   writeln(k);

   readkey;

end.
Вариант 8

Program V_8;

uses crt;

var k, a, s:integer;

begin

  clrscr;

  readln(a);

  s:=0;  k:=0;

  while a<>0 do

    begin

      if (a mod 2=0)  then s:=s+a;

      k:=k+1;

      readln(a);

    end;

   writeln(k);

   writeln(s);

   readkey;

end.

Вариант 9

Program V_9;

uses crt;

var km, kp, a, s:integer;

begin

  clrscr;

  readln(a);

  s:=0;

  kp:=0;

  km:=0;

  while a<>0 do

    begin

      if (a>0)  then kp:=kp+1;

      if (a<0)  then km:=km+1;

      s:=s+a;

      readln(a);

    end;

   writeln(s);

   writeln(kp-km);

   readkey;

end.
Вариант 10

Program V_10;

uses crt;

var k, a, s:integer;

begin

  clrscr;

  readln(a);

  s:=0;

  k:=0;

  while a<>0 do

    begin

      if (a<=256)and (a>0) and (a mod 2=0)  then s:=s+a;

      k:=k+1;

      readln(a);

    end;

   writeln(k);

   writeln(s);

   readkey;

end.

